oS 2ol A M2 AB 9] TR, A N2 MB Y o,
ohe [l ggre 45 Molat

Il
I

TJe

N

=Ze

A

AB = oMN

D L
=%



-

~10cm

cm?



o

N
ol

Tor
o

&4
=
__OT

yal

jpure]

=)

T
!
)
il
2]
Tor
G

=y
el
B
)
H
oln

Tor
Jm_
o

gy

o

% 17F?

B

NEEES

0.1

0.35
0.15

)

&o

(

9

21

i

307

OOVJ ~

60‘3]‘?}

3001”}} ~

90"

60°77 ~

90°7% ~ 120"
120°7 ~ 150

ol

%



TR eI ofi s Sl 0] AA-S AT EAe] T ek
A0 1 AFIL Hol A Fob 7} gk, 407 o4 507 wlwe]
S 571 169 ), 603 o)A 704 IRkl Alste] Atw4e9} of
Aol £3Hs s 45 up] dA.e AL

(78)

0.4

03 M ///
N

0.2 TSN

0.1
{ RS

071750 170 T90 T(A)

N
(@)
[ep)
(@)
Q0.
(@)
=
(@
(@

D 0.25, 127 @ 0.25, 189 ® 0.25, 20

@ 0.15, 127 ® 0.15, 20



Tha 2A 2y O 2717

22—30°

3 z+20°
3x+10

@® 90° @ 100° ® 110° @ 120° ® 130°



o= J1HolA ¥ 0 = AZ4H7H ABC 9 Lﬁﬁ%glg, AP, Q R
VY N\

= ™otk /ACB = 30° € o, 5.0ptPQ : 5.0ptQR : 5.0ptRP &

ToHH?

A
P
Q—10
N .
B R 3{00 \¥;
D 1:2:3 @ 3:2:1 @ 2:1:3

@ 4:3:5 ® 5:3:4



TR e ol sk BH4) 408 O] BEAS Lehd 4Tk}
Goltt. 5okg 014l S 5okg wlRkel SHg0] 471 22 ), B

(“5‘:&
10 \ L
8 Vi
N
5 ] \
AR
A
4 A \
9 // \
4 >
071745 155 T 65 {(ke)

40 50 60 70



TS oA AE ¢ EF = ZHz /BAC €} /AEC 9] o] 52 Mol 11
A D+ AB, EF 9] A4 9] ot /C =36°, /D =18 ¢ o,
/ABC 9] 27|=?

@® 60° @ 68° ® 72° @ 75° ® 78°



@ 727cm?

@ 1567 cm?®

@ 807 cm? ® 1087 cm? ]

® 2967 cm®

—

2cm|



